
SAP ABAP table BUT150 {BP relationship: Attribute table (test different.type TBUKR)}

BUT150

CLIENT [CLNT (3)]

RELNR [CHAR (12)]

PARTNER1 [CHAR (10)]

PARTNER2 [CHAR (10)]

DATE_TO [DATS (8)]

RELTYP [CHAR (6)]

BUKRS [CHAR (4)]

BUT050

CLIENT [CLNT (3)]

RELNR [CHAR (12)]

PARTNER1 [CHAR (10)]

PARTNER2 [CHAR (10)]

DATE_TO [DATS (8)]

 BUT150-RELNR = BUT050-RELNR 
{0,1}

1

T000

MANDT [CLNT (3)]
 BUT150-CLIENT = T000-MANDT 

0..N

1

TB990

CLIENT [CLNT (3)]

TBUKRS [CHAR (4)]

 BUT150-BUKRS = TB990-TBUKRS 

0..N

{0,1}

TBZ9

CLIENT [CLNT (3)]

RELTYP [CHAR (6)]

XRF [CHAR (1)]

 BUT150-RELTYP = TBZ9-RELTYP 

0..N

1


